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Q.2:. Mark(s): 5/5

The table below shows the cross of two (CYCY) slaaw sl (53 Laaaal Julll i AL gl ol Jgaad)
snapdragons plants, one white flowered (C"C") and (CRCY) daayg ol g3
the other pink flowered (C*C"). Tl 138 Al (M) Jaall Aalial k) e s AU Cadl) ¢

Which of the following ratios describes

the phenotypes of the offspring? cw e
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E Q3:. Mark(s): 5/5
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0 Which of the following is not a characteristic of a person
_8- with Albinisrm? ?alealls Glaall (et il pallad e 20 Y b Laa g
= ?
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Learning Outcomes Covered

o BIO.3.3.01.036

Skin susceptible to UV damage Aoniill (38 At s REL Aol (g
b~§ Enlarged liver RE{PEU
Vision problems Ll B e

No color in the skin, eyes, and hair adlly aiually aladl 2 Galll alaad
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Q4:.

nondisjunction during meiosis
Which of the following
indicates a zygote (2n+1)?

Learning Outcomes Covered

o Bl0.3.3.02.021
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The figure below shows Gametes with abnormal

numbers of chromosomes that result from
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https://t.me/+CbbW8n6Up6US50GES

(®)s(B)


https://t.me/+CbbW8n6Up6U5OGE8
https://t.me/+CbbW8n6Up6U5OGE8

Q.5:. Mark(s): 5/5

The figure below shows animals with different genetics, study (Aalide Ay g culda ¢
them and then answer the question: i
Which of the following patterns describes the inheritance of 2 9l (gt Al chual

coat color in (A) and (B)?

Learning Outcomes Covered

o BI0.3.3.02.011

a.i (A) Multiple Alleles and (B) Epistasis Cliall Goiz (B) 5 5225l ey RN (A)
b, (A) Dosage Compensation and (B) Multiple Alleles Baneall LY (B) 5 “lagusas SN Julaat (A)
. (A) Epistasis and (B) Multiple Alleles sazaiall LY (B) 5 =lusll Gos (A)
a (A) Polygenic Traits and (B) Dosage Compensation Glaguisag KU Julaat (B) 5 cliall sa2ama liall (A)

https://t.me/+CbbW8n6Up6US50GES
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Q.6:. Mark(s): 5/5

In the illustration below, which molecules are Glayal) letias Al cligall L colial Al Jga ga
represented by the boxes (A) and (B)? f(B)s (A)

I Hereditary information ‘

Is stored in

DNAl O
o .

Learning Outcomes Covered

o BIO.3.3.01.015

a.Er (A) Genes and (B) proteins wlisg p (B) 5wl (A)

(A) Genes and (B) RNA RNA (B) 5 «luall (A)
. (A) RNA and (B) Chromosomes ilasusas X (B) 5 RNA (A)
i (A) proteins and (B) Chromosomes lageagag S (B) gl y (A)

https://t.me/+CbbW8n6Up6US50GES
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Q.7:.

When a trait is found more often in both members of

identical twins than in fraternal twins, the trait is

presumed to

Learning Outcomes Covered

o BIO.3.3.02.023

be not influenced by the environment at all

be strongly influenced by environment

have no genetic influence

What do DNA and RNA have in common?

Mark(s): 5/5

A Wiy oo Sl gat o Ablial ailgl) A dha 3gag Nie
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Mark(s): 5/5

¢ RNA g DNA 1) o ¢l idiall quilal) La

Learning Outcomes Covered

o BIO.3.3.02.022
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Both are double stranded

Both contain ribose molecules

Both contain uracil

aa ) s Ladig
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Q.9:.
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Which is the function of the enzyme DNA helicase

during replication?

Mark(s): 5/5

e Laill oL 5I<da DNA ) a3d) ddiag La

Learning Outcomes Covered

o BIO.3.3.01.016

It bonds mRNA to original parent strand

It matches the nucleotide pairs

It winds up the replicated DNA strand

sequence coded by the following mRNA:
5' AUGUGGUUAUGU 3

u G

First
Base
A
uuu ucu uGy
phenylalanine serine tyrosine cysteine
uuc ucc UAC UGC
u phenylalanine sering tyrosine cysteine
UuA UCA UAA uGA
leucine serine stop stop
uuG ucGg UAG UGG

leucine serine

AUU ACU AAL
isoleucine threonine asparagine

1 . auc _ACC AAC_ AGC

Learning Outcomes Covered

o BIO.3.3.01.015

Methionine, serine, tyrosine, lysine

Methionine, isoleucine, lysine, arginine

Methionine, isoleucine, serine, tryptophan

Use the figure below to determine the amino acid

¥l LY Lyl mRNA L,

CieLadl) DNA Lyt il

Mark(s): 5/5
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Q11:. Mark(s): 5/5

Which scientist discovered that the bacteria Streptococcus daghyll duadal) Lisd) ol adasi @A alladl e

pneumoniae change its form? Tl s

Learning Outcomes Covered

o BIO.3.3.01.012

] Avery SA
Chase -
b. )
i Griffith o,
el LR
B Watson Oguibals
Q12:. Mark(s): 5/5

What is the mRNA sequence for the template DNA  _aaal) dbad Q& J gu)l) (85 smldl (S5 (aaad)l Juddodi sa Lo
strand sequence in the below figure? golidl Jed) o Oy (agiia (8 subl) (G55l
3 5

TCA CCC CATTCGTCC

https://t.me/+CbbW8n6Up6US50GES

Learning Outcomes Covered

o BI0.3.3.02.022

5' TCACCCATCGCC 2’

b.

5' TACAAACTAGCAA 3

4 5 UACAAACUAGUAA 3"
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Q13:.
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Which of the following abnormal male gametes will form

nearly normal male when fertilized with normal egg?

Learning Outcomes Covered

o Bl0.3.3.02.021

23 somatic chromosome and sex chromosome Y

22 somatic chromosome and sex chromosomes XX

21 somatic chromosome and sex chromosomes XY

Which of the following illustrates the genotype of a female

with blood group (B) and have Red-green color blindness?

Learning Outcomes Covered

o BI0.3.3.02.012

XX AR

Mark(s): 5/5

S5 0985 ) Al 8 Ao S LAY i (gl
Tk Aol lgalad) 2o aulu 43l

Y uin asusag Sy Sun aguses S 23
XX Gain (pagugag K9 (S2un pgmisag S 22

XY Oaia (iagusag jSg (S agmigag S 21

Mark(s): 5/5

(B) Lgas Aliad olaY ual) jhlall Jiay S (a6
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Q.15:.

https://t.me/+CbbW8n6Up6US50GES

Which of the following describes the figure shown below?

MRNA ks
mRNA strand

Learning Outcomes Covered

o BI0.3.3.01.009

RNA processing

Replication of DNA

b.

Transcription

il
sl aas,
Amino acid

Mark(s): 5/5

Tolial maagall JLAN Cheas b Laa (g

Polypeptide s wx

ik

sl g5l Gman)l Anlne

DNA Ji &l
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Q.16: .

https://t.me/+CbbW8n6Up6US50GES

Mark(s): 5/5

If the father's blood type is I* i and the mother's is 1%i, what IPi oY) an dliadg 1M QY a2 Aluad cuils 1)
is the probability of having a child with type AB blood? SAB aa dluad g3 Jab Glad) Jlaia) Lad

Learning Outcomes Covered

o BIO.3.3.02.011


https://t.me/+CbbW8n6Up6U5OGE8
https://t.me/+CbbW8n6Up6U5OGE8

Q17:. Mark(s): 5/5

In the figure below, colidf gl JS&l A
which disorder can be identified in the Karyotype? T(Soill Jaaill puglay DG4 (éi

Learning Outcomes Covered

o BIO.3.3.02.019

Turner's syndrome i daPlie
a.
b Klinefelter's syndrome alenlS dahia
Down syndrome male S3 Ggla daDhie
P m S me e e em e mmemmm e mm e mm e meeas
d.i Down syndrome female il gy daplia
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Q.18:.

https://t.me/+CbbW8n6Up6US50GES8

Mark(s): 5/5

Which of the following represents the structures
(1) and (3) shown in the below figure?

DNA Double Helix
(1)

(3)
Key

Adenine(A)
Thymine(T)
Cytosine(C) g

Learning Outcomes Covered

o BIO.3.3.02.015

(1) hydrogen bonds and (3) Purine base
(1) covalent bonds and (3) Pyrimidine base

(1) peptide bonds and (3) Purine base

Waagall (3) 5 (1) sl Sar b Laa &
folial Jeay b

5uiplSedll Nucleolide

lheagh — L S0
Sugar-phosphate backbone

Ahysu 5208 (3) 5 dubing pra Ly (1)
dnniay sacli (3)3 Aoaaled Jailg ) (1)

Ao 5208 (3) 5 dame Ly (1)
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Q.19:.
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Mark(s): 5/5

The DNA strands are separated during replication and each
parent strand serves as a template for new strands, as
shown in the figure below.

Which of the following represents the DNA ligase enzyme?

EY , ,
3 Ny ——
NB 0N, O
::::s::: / l/n"." I}
Il

I\ «N\

(AY

Learning Outcomes Covered

o BIO.3.3.01.016
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cacloalll ddac #U DNAD Judiws Joadis
Judladl 7 3941 dibial Alealis JS Jand Cua
oLl JEEN Gy LaS Saaal)
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Q.20: .
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Mark(s): 5/5

The pedigree below illustrates the inheritance of a dominant omha e aila 0GR &)y g olial el Jaw
disorder across two generations. 13 Adras old sy Laag tuaa (3) Jak (2)1 5 (1)1 s

The parents I(1) and 1(2) had the child li(3) and they wanted
to know if this child could be affected by Huntington’s

N g Cgaitia Gars clas Jak 13 06K ol oSaall ¢

() oo Alaiaal) diad) okl a8 il Jan )
disease or not. Based on the pedigree, predict the possible

genotype(s) of the child Il (3).
- IO

Unaffected
ro| 2 Ol ‘

Learning Outcomes Covered

o BIO.3.3.02.011

Hh only Las HI

HH only La HE
ci Hh or hh hh 4 Ht
4./ hh only Lz hh

Q.21: **¥** BONUS ***** Mark(s): 4/4

Which of the following demonstrates an insertion mutation of el ua yah Ji.) ruag o Laa (éi

the sequence 3' GGACCGCACCC 5'? 3’GGACCGCACCC '5

Learning Outcomes Covered

o BIO.3.3.02.014

5 'GGACCCCACCCG 3

5' GGACCGCACCG 3

5" GGACCCCGGCA 3'
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Q.22: ***** BONUS ***** Mark(s): 4/4

Which of the following is true about eukaryotic gene e all ) adiii Jga dasaia 4dll cljlal) G ‘;i

regulation? 5! gill dsbuda

Learning Outcomes Covered

o BIO.3.3.01.018

Eukaryotic gene regulation is exactly like slaill Sy Cpadl adats Jilas 553l I T ETEN | P

prokaryotic gene regulation

Replication factors guide the binding of eukaryotic  g)subll (gysill Lmanll 5yals w3} G Jas)l) Zulis Jalge 4ng

b RNA polymerase to the promoter Dbaally slgill s

i Activator proteins fold DNA to enhancer sites that oastie 5)sull) (soaill Gasall Aladidll culisg i gelas

. i increase the rate of gene transmission Cliall Jla) Jaes e 03 Ally Ailaall alsall ) Sy

Repressor proteins bind to activators, preventing sacall M gl adar laa cilipaall ) aslall gl Jasy

4 them from binding to the DNA a1 asiia (ghsnbll (g5sl)
Q.23: ***** BONUS **+++ Mark(s): 4/4

What is the effect of sickle—cell anemia? ealaiall LAY Ll 50 L

Learning Outcomes Covered

https://t.me/+CbbW8n6Up6US50GES

o BIO.3.3.02.011

Blocked respiratory pathways Aowanll @bl au
Decreased neurological functions Lpaall LB aals

| neffcent ongen tansporiaton S g g
Susceptibility to contracting malaria dvalsll Lydall dladld dia sl
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Q.24: ***** BONUS ***** Mark(s): 4/4

AalY) Bk VA sy (53 L

What occurs during frameshift mutation?

Learning Outcomes Covered

o BIO.3.3.02.016

Part of the chromosome breaks away, but reattaches adany alay (K15 caguigag SI e cha clSin
a normally Laauh Bygan
Part of the chromosome breaks away but reattaches in abay) ol (Slg caguigag SI (e el GlSi
b inverse orientation of a base Se gy
An extra chromosome is added, causing mismatching of the pre e Lae ¢ Alia) aguigeg S il
chromosome pairs Dla gigag S Cijj ]

C.
E Nearly every amino acid in the protein will change Ofig ol A Gy Al (alaall Aen

https://t.me/+CbbW8n6Up6US50GES
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Q.25: ***** BONUS ***** Mark(s): 0/4
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https

The lac operon is an example of the gene expression of CBidaall Cilag i aald) sl Yl »d Lac Jadu
inducible enzymes. In the figure below, which letter of the thio pile ) edy b Laa dps (éi colidf Jgan
following indicates repressor active?
Lac operon {om J.;.:..S Lae Jals Lac operon [onj J.;.‘..i wie Lac Jada
(A) {B} wlep¥ wled! Genes for enzymes for
\ ﬁ 3950 pian lactose digestion ONA
DNA  SOOOBBILOOOLOO0NON SRS ’”ﬂ’
RNA
Sl g5
RMA, polymerase

. RNA
5= SN b g3
mRNA \\_ . § — mRNA \ L

|

Learning Outcomes Covered

o BIO.3.3.01.018
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